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What is meant by mezchar.licél advantage of a2 mechanism?

State D’Alembert’s principle.
Differentiate between forward and inverse kinematic manipulators.
."State the significance of D-H parameters.

Give any one form of Euler-Savary é'qu'afion and state its application.

Define branch defects, order defects with reference to mechanisms:.

Determine the Chebysbev spacing for a four-bar linkage generating the
function y = 2x® ~1in the rangel<x <2, where three precision points are to

he preseribed.

List out the different types of synthesis in designing a mechanism. - -

State Robert-Chebyshev theorem on cognate linkages.

State principle of super position with an example.




Cn

: and. output hnks shouid move in counter-clockwise directions. Check if
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13.

14,

5 And’ angular acce}eramon of any hink of a mechanism m terms of the

fﬁﬁfﬁﬁ;@x13=65mmk®

Derlve the Goodman g relatlons for the determination of angular velocity

R ;-'angular Velomty and angular acceleration of the input link:

@

S paraliel kmematm mampulator for use in a machine for simple milling of

Or

.-.DeSIgn a four 11nk mechamsm so that 6,, =60"and 2 = 60° Both Input

' "'._-_"the resultmg mechamsm is Grashofian. Determine the minimum

'transmlssipn angle B

Llst and explam the factors that are to be considered for the design of a

o automotwe parts

o

'(é) .. -

Or

Define .coﬁéétehéti.of_l- of finite displacements. Also show that the

conmcatenation for rotation followed by translation and for translation
followed by rotation are different.

Synthe51ze a four- bar linkage that will satisfy the followmg angular

7 veldcities and accelerations in one of its positions..

. (_b)
s s coordinate three p051t1ons of point P on a coupler at (20, 30), (40, 20) and
S (60 10) Assume the suitable data wherever required. .

(a)

Input link @, =8 rad/s a, =0
Coupler w, =1 radls ag =20 rad/s?
o Outputline  w, =3 rad/s a, =0
Or

DeSIgn a four bar ‘mechanism using complex number modehng to

Des1gn a -four bar mechanism  to  generate  the function

= x20<x<umd9 d= 60°.

Or
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(b)

(a)

Find the mﬂectwn c1rc:1e for motmn of the couplfé‘r relative to the ffame .
for the four-bar mechanlsm shown 111 F1gure 1. Also find the center of -
curvature Cof o Uthe coupler curve pomt o

OAl%mnOQﬁ%mﬁﬂﬁwmeDlmmn
AB=0O,B= BOOmm- ' L

Figure 1
Identify a suitable method for kinematic analysis of the following

mechanism and determine the angular velocity of links 3 and 6 of the

mechanism shown in Figure 2. All dimensions are in mm.

Figure 2

| Or.: :
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gﬂi'aif velocities of link 4, 5 and 6 for the n'ie'chanism
~using auxiliary point. method. - 0,0, = 60mm
AB ZOmm BD =22mm, Do, —18mm CD 22mm ,
ISmm angle between 0,4 and ‘the frame is 90°.
?homzontal O, isata helght of GOmm above 0,0, .

W _d. klnematm equations for the three-link planar
own m F}.gure 4 using the Denavit-Hartenberg convention.
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Figure 4
Or G
at is meant by inversion? Describe the possfole mvermons
obtamed out of double — glider — crank chain?. - 2 (5)

ey
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__-Derwe mlmmum number of links required to form a mechamsm
usmgthe cmteman - :
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